0.5- Combining Like Terms

1. Which expression is equivalent to

—3x+5—2x — 27
A —bBz4+7 B. —5x+3

C.2zx—-14 D. —z+3

2. The width of a rectangle measures ( k+ 4)
centimeters, and its length measures (Thk — 2)
centimeters. Which expression represents the perimeter, in
centimeters, of the rectangle?

A. 10+ 10k B. 5+ 5k

C. 8k +2 D. 4416k

3. A triangle has side lengths of (2d — 8 f) centimeters,
(4d — 3g) centimeters, and (99 — 8f) centimeters.
Which expression represents the perimeter, in centimeters,
of the triangle?

A, —19fg+15dg B. f+6d—1lg

C. dg+ fg—6df D. —16f +6d+ 6g
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4. Which expression is equivalent to —4a + a — 7a?
A . a—11 B. — 10a

C. —12a D.1—-11a

5. Atriangle has side lengths of (2f — 7) centimeters,
(5f — 8) centimeters, and (9¢g + 2) centimeters. Which
expression represents the perimeter, in centimeters, of the
triangle?

A 7f+11g-15 B. 7f -13+9g

C. 11g — 8f D. 11g—5f —3

6. Combine like terms.

—6y+1—2a°—32°+1+ 2y — 323



7. Combine like terms. 9. Combine like terms.

2r +7+6x> —1+3—6x— 4z 2z —2—y —bzx+TyY —-3—=z

10. Combine like terms.
by +yt+3 4y —T+1—4y
8. Combine like terms.

2-3zx+T7z—z+222+7-5

._I.EI-._-EI:"EE Scan the QR code or visit
L deltamath.com/qr/G49X 3-
ﬁm‘; W5W?7V to view full solutions.

2 © Copyright DeltaM ath



